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1. mmwmﬁwmmm.mwxmwmwwm%ﬁmmﬁa
oy a4 6 ﬁﬂﬁﬁmﬁﬁimm%m%ﬁmﬂmﬁwﬂﬁﬂ

You have been called for the written test based on the online data furnished by you in the web application.
If you have wrongly_entered_in the web any information_or you do not_possess the required
ualification as per our advertisement, your candidature will be rejected.

2. ma-ﬁ,aomﬁﬁgﬁma-quﬂﬁmﬁ’g sk e 7 02 9 F |

-

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. WWWWW#WE@W@%WWW#@MI
The questions will be objective type with four options out of which only one will be unambiguously correct.

4. qvaﬁqaaaaﬁvmﬁaﬁaﬁamqmmm%ﬁNWﬁaﬁmm |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. mﬁ%maﬁﬁﬁvmmmw-qﬁaﬂaamm

2

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. M,W-Wﬁmmﬂmﬁia@ﬂ,mﬁmmﬁa‘mmﬁW$mm-
qﬁawxﬁéﬁaa‘hﬁﬂmmaamﬂmm?l

b=
You have to select the right answer by marking the comesponding oval on the OMR answer sheet by
blue/black ball point pen as per fhe instructions given in the answer sheet.

7. wmaaaﬁvmmmmml

Multiple answers for a question will be regarded as wrong answer.
P.1.0
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8. Vﬂi’l}“{# 2. %WT
Question booklet code printed on the top right comer should be written in the OMR answer sheet in the space
provided.
9,

ma-g%#mmmaﬁmmaﬁﬁﬁl

Enter your Name and Roll Number correctly in the question booklet,

14, m:r-gﬁfamrawaﬁamﬁmwmmgl

The question booklet can be retained by the candidate.

15, qﬂm*mﬁé%ﬂmmﬂﬁ&ﬁwmﬁwwaﬁrmﬂﬁh

Candidates are not permitted to feave the examination hall during the first hour of the examination,
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L P H R grEaRe giar §

The job reciprocates in
(a) 3-11?% TAT ARMA/Shaping machine  (b) ToifeAar #FMA/Planing machine
(c) @rar #ALMA/Slotting machine (d) 3‘3[1‘33'?[ THI/All of the above

Quick return mechanism in a planing machine is necessary to

(a) HAYUT JsS/Have smooth surface
(by AR AP F AU gl & FAa1/Avoid dulling of the tool point

(¢) TITA THT Fl HH &e1/Reduce operation time
(d) SO §HT Bl deT=/Increase operation time

3. AT 98 UATesT § AV ... W AT omar &

Knurling is the operation done on
(a) ®/Lathe (b) fAIFE/Milling
(c) ©YU/Grinding (d)  HTHfA HMUA/Shaping

4. SN S F PR G F......FHg AT §
Bevelling the edge of the cylindrical job is called
(a) 9T FdA/Taper turning (b) wfa RFsT/Counter sinking
(c) ﬁlg g cleh/Spot facing (dy  AFHERI/Chamfering

5. Solferay 9igd F HHER @ ........ & 3erar fafafese fomar o ¥

The size of an engineer’s vice is specified according to the

(a) Ol g I oiaT$/Length of the movable jaw

(b) & @ TIS/Width of jaws

(c) 13" Fr FaATS/Height of the vice

) &] * ol & HTrehdH/Maximum of the openings of the jaw

6. TRrla@a A Fla, Tdor ufshar & a1 78§72
Which one of the following is not an advantage of grinding process?
(2) FSRYAIR gThi Hl TS foRaT ST ThdT /Heat treated components can be ground
(b) A HYOT T“B’f I 3cYe=T FAT/Produces extremely smooth surfaces
(c) HHY #AET A ey &1 geTell/Heavy volume of material can be removed
@) 3 o Frat F Gl GUF F qOT FAVery light works could also be finished effectively
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10.

11.

12.

T Felel ST H & #AMAA & N IFAT Y 3¢9+ g ¢

In metal cutting operations discontinuous chips are produced while machining
(a) $FR TET/Brittle material (b) ToF UEIA/Ductile material
(c) 7§ 9ere/Soft material (d) 3R Yerd/Hard material

(a) el & I gehza/Holding the work piece
(b) FHell T&] FI ST H/Loosening the work piece
(c) el I&] W THsar AR AR F ART RERT F=

Holding the work piece and guide the tool

(d) 3K = HFTA/Tightening the tool
UF T3 & Ra AR & & ... ag

Ra value of a surface refers to

(a T W few a7 ge9A & YEHR/Type of coating given on a surface
(b) T W T 1T FEHIgTUR/Heat treatment given on a surface

() T #$r F&Td/Roughness of a surface

(d) 9o FI FERd/Hardness of a surface

R Fed 7 30 HeX i FF03 § A Ag ST & ekl ¥ 3T J97 FEARH HAUSA
@20 FAIHAT & rpm &1 IRFaa HifaT

Calculate the rpm for a high speed steel drill 20 mm to cut mild steel if the cutting speed is 30 m/min
(a) 956 (b) 478 (c) 239 (dy 50

10 iy TRfBeF garr 7g sv0a W oF 3 I fRar aen ¥ ogade § g
g yausT & v vaua &1 carg fhaar gem (a3 = 0.2 A va #ffsmHET =
0.05 fAeN#e)?

A hole to be reamed on mild steel with a 10mm reamer. What will be the diameter of the drill for
drilling the hole before reaming (undersize = 0.2mm & oversize = 0.05mm)?

@@ 9.85 (b) 9.8 © 9.75 d 9.7

Bronze is an alloy of

(a) J&ETTE AE (T5)/Copper & Zinc

(b) TET U feA/Copper & Tin

(c) areT, WfFeaaT vg AT (foh)/Copper, Antimony & Zinc
(d) dmEr, et va Ofee#=N/Copper, tin & Antimony
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13.

14,

15.

16.

17.

18.

3R 18:4:1 3T 9T TEUIT F AT AT & fafaféee #xar §, o gues.... #H A
gl

If 18:4:1 specifies general composition of high speed steel, the constituents are in the order

(2) <TIEHA, HIfATH, dAT3TH/tungsten, chromium, vanadium

(b) FIETH,TITCA, a1 fSTH/chromium, tungsten, vanadium

(c) PIATH,3AT3TH, TIEdsT/chromium, vanadium, tungsten

(d) &dAf3uH, TEA, HIIATAA/vanadium, tungsten, chromium

Lead screws of machine tools are made of

(a) 9T T3/Buttress thread (b)  TFHT SI/Acme thread
(c) @3 FRV/Square thread (d) 3T TEVSaw tooth thread
14+ ——FTHT e ¢

1

el

5

The value of 1+ ——is

1

3-}-:{_5_
(a) 68/21 (b) 21/68 (c) 89721 (d) 21/89
ferfafad & Fia aace g9 1 §9 8
Which of the following is a form of trapezoidal thread?
(a) THT gg/Acme Thread (b) T gPV/Buttress thread
(c) @ IZ/Worm Thread (d) 39w TMAL of the above
9 (I3) F TR A F ... ¥ AT ST FHA T

Effective diameter of a thread can be measured using

(@) UL TS FEAATI/Screw thread micrometer

(b) AR YOUITel/Three wire method

(¢) 3cad IR & TTT WUTRI/Selection of best wire method
(d) oA @Al of the above

ofior 7% & gvs @ Y § Fida Hwendt Foif Fge F....... FFT AT

Removal of clogs and blunt abrasive grains from the surface of the grinding wheel is known as

(a) E3W/Truing (b) SRAMWDressing () ToAToid/Glazing (d) 3®RUT/Loading
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19. AFHIA & I3 N1 FH ®&TAT AT (Ra AW) ... gl
The roughness value (Ra value) of grade N1 in microns is
(a) 50 (b) 0.1 (c) 0.025 (d 02
20. <Mor I H W ASwET B 329 T F A0 99w A6 gl
The bond in the grinding wheel used for high rate of stock removal
(a) FIRAT HTE/ Vitrified bond (b) &S HEE/Rubber bond
(c) Tafedse amatSilicate bond (dy UeF HTEY/Shellac Bond

21. #RT vt & yaua & fav snpaisa gaus fig Ao, 8

The recommended drill point angle for drilling moulded plastics is

(a) 118° (b) 80° (c) 140° (d 130°
22. U AT & RAAARTRET § Q@ FlF-91 907 a9l ©F F $ER F IR 3o F A
T §?
Which of the following part of a shaper helps to lift the tool in return stroke?
(a) YEAUT/Saddle (b)  FUT seATH/Clapper block
(c) FEH/Ram (d) YoTa fIRR/Bull gear

23. Uk W1 qUH AR F 3 3EaRff v gl
The end clearance angle of a slotter parting tool is
(a) 10° (b) 20° (c) 18° dy 17.5°

24. WWW(W)WW%@W ........ gl

The point angle of a general purpose (standard) drill is
(a 80° by 118° (c) 140° (d) 130°

25. 3R 93T <A 30 fAHARY, BT cam 26 Ay, T fr &g 100 AT 3k
T T Fa$ 200 AAHET § A 2T Teiw T YOI F IR IeoeT WA &
AT g7 3idT Fr gar #engu)

Find out the offset to be given to produce taper in a tail stock offset method if, the big diameter is
30 mm, small diameter is 26 mm, length of taper is 100 mm and the total length of the job is 200 mm

(@ 2V mm (b)) 4 FIFHRYIm () 6 ANANYmm @) 8 AeMfeymm

26. 6 fAdieer R & 3191 duarel 90U & A9 w3 A AT & 709 & fv ey
afgde ARt (aREresaiEned) & gar S

Find the change gears (Driver/Driven) required to cut a 3 mm pitch on a job in a lathe having a lead
screw of 6 mm pitch

(a) 120/60 (by 60/120 () 30/40 (d) 40/30
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27.

28.

29.

30.

31.

32.

33.

TH T F FSfAA HIOT (a) ........ gl

Helix angle (a) of a thread is given by
(a) tan'(lead/nd)  (b) sin'(lead/nd) (c) tan’(nd/lead)  (d) sin’(wd/lead)

ffalea A @ fFa 3R geaar f Aol & 3ehe Rar R o &2

Which of the following is considered under the category of “form tolerance™?

(a) aﬁ?leSquareness (b) ﬁﬁﬁTﬁComcentricity

(c¢) THAdCFlatness (&) FAATYSymmetry

T YTy T GeATEdar # #H ffcasa fear Srar g

Modulus of elasticity of a material is expressed in

(a) N/m? (b) N/m (¢) Kgm/s? (d) Ns/m?

ToF ders L ¥ AR 9 e sda wgie S dEr N3 'm 39 39 & 9 | F
Fclel AT 9T A F G ...

Formula for finding the cutting speed of shaper, with ‘m’ speed ratio is, (L is the stroke length and
N is the number of cutting strokes/min)

(@) NL(1-m)1000 (b) NL(I+m)1000 (c) NL(1+m)60  (d) NL(1-m)/60

Bearing suitable for heavy radial load is

(@) WOl SARET/Thrust bearing

(b) sTer 9ARF/Ball bearing

(c) Taa: I 9 $afer/Self-aligning ball bearings
(d) VX FFRRoller bearing

g ged @ 9 gea & fa & Bsw gl #1 ... FgT ST §

The radial distance between the pitch circle and the tip circle is called. ........
(@) 2ESH/Dedendum

(b) 37SSH/Addendum

(c) T T FRAFH IEUE/working depth of teeth

(d) &ea # qut agUSiwhole depth of teeth

T aUF W 88 F MY Resw & fAw ... aqd @y wfRw|

A head marking of 8.8 on a fastener demands a tensile strength of
(a) 880 MPa (b) 640 MPa (¢) 800 Mpa (d) None above
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34. UF gul? & AfRdes 39 ... F giar gl

The specification of a hammer is stated by it’s .
(@) 9 & 3HTHR/Shape of the Pein (b) Wl & 3Te/Shape of face
(c) 3a@ciishel f3g/Eyehole (d) S'Q'éﬂ-ﬂ' H A FIS $Y 7EI/None of the above

35. frafaf@a § ¥ #i9, tF 3-Ry ([@9-a) Reema gfwmar 82
Which of the following is non-chip removal process?
(a) oY W alS/Spinning on lathe (b) AW W AWeTel/Machining on shaper
(c) T Fclel/Thread cutting (d) AT FEIOTGear hobbing

36. TH HEE A 9 H aifAd 0T ... ]|

The included angle of a standard morse taper is
(@ 1° (b 3° (c 2° (d 5°

37, df ¥ AT A TEH ...... T &l

Grade of knurl refers to

(a) W/ERS o / Straight/diamond knurl

(b) ARG AT FeT / Hardened/softened roll

(c) wI&Fd 3 g FT 9 / Type of tool holder used
(d) e & T / Pitch of the knurl

38. fAfaweT AR #1 aftia & o7

Increased rake angle of a milling tool

(a) A ETT S Fgrdr &/Increases cutting efficiency
(b 3SR AT FIOT F FeIaT g/Increase tool wedge angle
() 3R afea %I TETaT &/Increases tool strength

(@) 3q1_i,a-?r # O F 3 AL/ None of the above

390. gt & oo & Jfg F T vgFT A ..o Bl
For checking diameters of holes, the gauge used is
(a) ol Ai/Plug gauge (0) 1 FS/Ring gauge
(c) WIeR AST/Feeler gauge (d) aRR IS/ Wire gauge

40. %mﬁmtmmmﬁmmﬁa ......... gl

For cutting soft materials, the most suitable pitch of the hacksaw blade is

(2 1.8 AeHAeYmm (b) 1.4 FAIHRYmm
(¢) 1 f&HTYmm (d 0.8 FAIHCY/mm
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1.

42,

43.

44,

45,

46.

W W urg @9 & e ar o HET I Bl

Clogging of metal chips in a file is known as

(a) TafesTeT/Pinning (b)  2f/Dressing
(c) EEI/Truing (d) HafilCovering

mM,maﬁmw#mﬁWﬁ#m:wﬁ
........ g

Which of the following file is commonly used for die sinking, engraving and in silversmith’s work?

(@) RwFeR ¥AWRiffler File (b) ST F/Barrette File
(c) fae I IMill saw Files (d) f&HT W Tinker’s File

2:3 I HAU AR OF IFT AN F ofd e F9F w@E # aReew SR
(el A1 = 20 Hrex WY fAve, &% i darS =180 fAdENR)

Calculate the number of cutting stroke per minute in a shaping machine having a speed ratio of 2:3.
(cutting speed = 20 m/min, length of stroke = 180mm)

@ 33 (b) 66 ) 132 @ 125

T @SR F H T A das 300 Fedalier, 9y B s99 w@1F © dear 40 3k
ATH FAT AR Hled THT H AT 2:3 ], Felel AT F qaT P

In a slotting work, the length of the stroke is 300mm, number of double stroke per minute is 40, and
the ratio of return time to cutting time is 2:3, find the cutting speed.

(a) 40 HeY/AAT/m/min (b)  13.33 HiEY/AFE/m/min
(c) 20 #HEYAFTT/m/min (d) 10 FAeYfATe/m/min

TH godl A B FH aXGg & ANAS & kT 075, BE-&chl defaelt Fefss e
mtﬁvmm@mﬁwquﬁmamv(mawwoﬁmuﬁm
IR R 9 g3 = 0.2 g=few)

Calculate the feed in mm/min for a ®75, six-teeth helical carbide milling cutter when machining a
cast iron work piece (take cutting speed = 60 m/min and chip per tooth = 0.2)

(@ 138 FNHY/AFT / mm/min (b) 276 FRIFERYATE / mm/min
() 307 Ay @ae / mmy/min (d)  27.6 AT / mm/min

q‘ﬁrmﬁﬁwmﬁﬁqﬁa&g%ﬁawwgow@ammmgm
YR fReredr 82

A sum fetched a total simple interest of Rs. 990 at the rate of 9% p.a. in 5 years. What is the sum?
() T/Rs. 2,400 (by ¥/Rs. 4,200 (c)  TRs. 4,000 (d) TI/Rs. 2,200
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47. 0.2 AR i IRFHTT SWOT & & WY U wUHed HAR GET F Q@ F6w F
fIT TH w9 F T 40 AAHERT qur 100 AR 9 F R Hg A A
¢36mﬁm’s‘uaﬁamﬁuﬁﬁﬁaﬁrﬁv(a§W=zoomm) ‘

A mild steel of @40 mm and 100 mm length has to be turned to @36 mm in one cut
for full length using a HSS tool with a feed rate of 0.2 mm/rev. Determine the turning time
(spindle speed = 200 rpm)

(a) 2 A/ minutes () 2.5 AA/minutes
(c) 4.5 AT/ minutes (@) 5 @A/ minutes

48. AR F6s § Raw F 7% N gl A o e F Rafda F@ & v tared
#F @ Ry v R S @2

Which of the following is used to change the direction of the feed of the tool for the same direction
of rotation of the spindle?

(@) aF FraUSpindle Gear

(b) CTFeelX R/ Tumbler Gear

(c) U franfafel/Apron Mechanism

(d) 3'E|1j_,7=FH #H F :12 oy FEi/None of the above

49, TR 1 Aer$ ¥ AN F Rv PRi@ g # F#a J s ©?
Which of the following micrometer is most suitable for measuring the thickness of pipings?
(2) IEE FEHAY/Depth Micrometer
(b) Telest FEAAMFlange Micrometer
(c) aAferr I{&'H'FI'I":WT ube Micrometer
@) Y= T3 GEAATScrew thread Micrometer

50. Qmﬁﬁmﬁﬁaﬁmgﬁmrﬁﬁmﬁmwmﬁrmm%?

Which of the following quick return motion mechanism is commonly used in shapers?

(a) ad frax franfaf@i/Bevel gear mechanism

(b) T T efeafaf®/Pawl and ratchet mechanism

(c) Iy U I gFRipATAfS/ Worm and worm wheel mechanism
d) % 9 @ifad Fefeafaff/Crank and slotted link mechanism

51 SR & SeraEe afa & 9 fvcaemh afa 7 ¥ megw ¥ aRafda B S §

In a shaper, the oscillating motion is converted into reciprocating motion of the ram through
(@) 9fA®NT FE/Compensating link (b) g PIA/Bull gear
(c) &d sh/Pinion (d) & Teh/worm wheel
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53.

54,

55.

56.

57.

White metal is an alloy of

(@) e, BIEPRYT T ST/ Tin, phosphorous and copper
(b) fe=1, aream g UfeeHATin, copper and antimony

(c) aEm e T STEAl/Copper, tin and zinc

(d) 3"31213-?-!' qHa 1% HT A&/ None of the above

U FINT STAT " & G0 T 393, F fow &

The purpose of tempering a hardened steel component is for

(a) E?BHT & fAada sger viady E!E;'lﬁ/lncreasing its resistance against indentation
(b) IHHT FIRAT ER;Iﬁ/Increasing its hardness

(¢) 3Tehr Erdievor yierd HeTA/Reducing its percentage of elongation

(d) 3G YOTT HROT &TAAT Fr FgleA/Increasing its ability for shock loading

mm%%ﬁaﬁwmmﬁm*mwm .......... gl

Ratio between spindle gear and stud gear for most of the lathe is
@ 21 (b)y 1:2 (c) 1:1 d 13

dAfcea eigs.. d o &

Cemented carbide is made of

(a) I, SIEeT g ersefams/Carbon, tungsten and titanium
(b) PETeT, SIERA T TIZefATH/Cobalt, tungsten and titanium
(c) E-Tl'sﬁFT, teaA T é?TE?T/Carbon, tantalum and tungsten
(d) FE=, Paec T TITEH/Carbon, cobalt and tungsten

............... 9T &1 a7 yR ¥ s 3nuR e Iuder A8 E

The type of jig in which a base plate is not available is the

(@ e fSET/Plate jig (b) &Fg SE/Box jig

(¢) o fA9/Latch jig (d) Hsfag Hev/Sandwich jig

fafdyet it & s1eier wfawdt A Prafaf@a F § P v & i aiyeneir 3 seaest fraT 3
THAT R

Knurling patterns of different pitches can be prodﬁced on which of the following type of tool holders
(2) Thd TUeR TR Qﬁiﬂ?ﬂ/Single roller tool holder

by SRFH I der IREm/Revolving head tool holder

(c) 317{1,%'5{?? Y 3eR o i/Knuckle joint tool holder

(d) FHITR FoeT AR aRUF/Parallel knurling tool holder
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68,

69.

70,

71.

72.

73.

Twist drills used in machine shop are usually made of

(a) LT FoT FENAMedium carbon steel (b) 3= el FEc/High carbon stecl
(c) 3T 391 FEUTA/High speed steel (d) AT FEA FEIA/Low carbon steel

The property of a material by which it can be permanently extended in all directions without rupture
by hammering, rolling etc. is called

(2) ITETAGEAA/Malleability (b) THEAUToughness
(c) WISOLC/ Tenacity (d) dfAFT/Ductility
HEAAT HTEHR 40g6............ 1 gfafafcg #ar §

The tolerance size 40g6 represents

(a) 40 PR AT &R & A fBE/Hole with basic size 40 mm
(b) 40 fAeiIeT F@ TR & WA AMUT/Shaft with basic size 40 mm
© 6 Ha 3R F T {3 Hole with basic size 6 mm

(d) 6 RN HF WFR F TTY AFE/Shaft with basic size 6 mm

R AR 38F GO JF HER & O F AT HR H oo gl ST &

The algebraic difference between a size and its corresponding basic size is called
(a) HHATLimit (b) TRe/Fit
(c) faga=/Deviation (d) ¥&Idl/Tolerance

The slotter used for precision work is

(2) T MY @rar AWM/ Travelling head slotting machine

(b) AT 3237 @iar AA/General purpose slotting machine
(c) JIIEhT heT f&¢/Tool room slotter

(d) 318 BEF/Die slotter

wqF (W) F1 BfRE.......qa eiRa fRar S &

The specification of a shaper is determined by

(a) ¢a HT HH/Table size (b) ¥ F TIH/Stroke of the ram
(c) 98 FTFR/Bed size (d) ITEHT MV/Tool head
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74.

75.

76.

77.

78.
79.

80.

L

w@%ﬁmﬁﬂﬁmmaﬁﬂ ...... a:—a?smwﬁs’largl

In a planing machine, metal cutting take place by the reciprocation of

(a) <&FA/Table (b)  ITERT M/ Tool Head

(c) T IA/Cross rail (d) FIZET AW/Counter Shaft
ﬁmﬁﬁaﬁ#mﬁu%ﬁﬁm‘msﬂﬁ-awmaaﬂtmmm%
foT faRwe suged §2

Which of the following lathe center has minimum wear and tear & particularly suitable for tailstock
offset turning?

(@) Y Fg/Half centre (b) UIBT FF/Pipe centre
(c) il Fg/Ball centre (d) goiAE dr &g/Swivel ‘V’ Centre

I T WA o W ... T S W B

Taper turning operation on a lathe can be carried out using
(a) I Gl 9 fcl/Form tool method

() & Fus qaﬁ-’ffC0mpound rest method

(c) CoEIP IHBAT UgfA/Tailstock offset method

(@) 3UIFT FHAL of the above

T FATAd Avft & et AR aat @ aorer 27 31 36 Aew g g!
The product of three consecutive terms of a geometric progression is 27. Its middle term is
(a) 8 () 3 (¢) 2 d o6

T SO gfa®a @ Rxm #....... wgr awar ¥

Direction of the predominant surface pattern is known as
(a) f[“‘@l’u IS/ Surface texture (b)  wBTAI/Roughness
(c) o/Lay (@) TErAAWaviness

fAefaf@a & 938 gewi & 98 A & seqreT %mmmaﬂwﬁab

Which of the following method is most suitable for mass production of threaded components?

(a) Goolal Fr 94 /Using Chasers (b) IS AT/ Thread Rolling
(c) 95 TAIRIA/Thread milling (d) 98 T¥UVThread grinding

ThIFa 3 & farw anfAa o &
The included angle for unified thread is

@ 55° (b) 47.5° )  60° (d 65°
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= &1 % fag e / Space for rough work
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